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Because our brain tries to understand it.
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1} The advance in science and technology makes us happier. If we can
grow vegetables or clean things without using things which hurt the
environment, we will not damage the Earth any more. Damaging the
environment and hurting our planet is one of the biggest problems in the
world. Science and technology can solve this problem. (55 words)

2) The advance in science and technology doesn’t make us happier, though
we often think it makes our life better. In the past, when scientists made
things to kill germs which damage vegetables and rice, people thought
farmers could produce more food. However, later, people found these things
scientists created were bad for our health. (54 words)




